
∂q+1 ◦ Pq(σ) = ∂q+1(Sq+1(σ × 1I))
( q∑

i=0

(−1)i[v0, · · · , vi, v
′
i, · · · , v′q]

)
= Sq+1(σ × 1I)

(
∂q+1

( q∑
i=0

(−1)i[v0, · · · , vi, v
′
i, · · · , v′q]

))
= Sq+1(σ × 1I)

( ∑
i=0q

(−1)i∂q+1[v0, · · · , vi, v
′
i, · · · , v′q]

)
= Sq+1(σ × 1I)

( q∑
i=1

(−1)i
{ i∑

j=0

(−1)j [v0, · · · , vj−1, vj+1, · · · vi, v
′
i, · · · , v′q]

+
q∑

j=i

(−1)j+1[v0, · · · , vi, v
′
i, · · · , v′

j−1, v
′
j+1, · · · , v′q]

})
=

q∑
i=0

i∑
j=0

(−1)i+j(σ × 1I) ◦ [v0, · · · , vj−1, vj+1, · · · vi, v
′
i, · · · , v′q]

+
q∑

i=0

q∑
j=i

(−1)i+j+1(σ × 1I) ◦ [v0, · · · , vi, v
′
i, · · · , v′j−1, v

′
j+1, · · · , v′q]

=
q∑

i=0

i−1∑
j=0

(−1)i+j(σ × 1I) ◦ [v0, · · · , vj−1, vj+1, · · · vi, v
′
i, · · · , v′q]

+
q∑

i=0

q∑
j=i+1

(−1)i+j+1(σ × 1I) ◦ [v0, · · · , vi, v
′
i, · · · , v′j−1, v

′
j+1, · · · , v′

q]

+
q∑

i=0

(σ × 1I) ◦ [v0, · · · , vi−1, v
′
i, · · · , v′

q] −
q∑

i=0

(σ × 1I) ◦ [v0, · · · , vi, v
′
i+1, · · · , v′q]

=
q∑

i=0

i−1∑
j=0

(−1)i+j(σ × 1I) ◦ [v0, · · · , vj−1, vj+1, · · · vi, v
′
i, · · · , v′q]

+
q∑

i=0

q∑
j=i+1

(−1)i+j+1(σ × 1I) ◦ [v0, · · · , vi, v
′
i, · · · , v′j−1, v

′
j+1, · · · , v′

q]

+ (σ × 1I) ◦ [v′
0, · · · , v′q] − (σ × 1I) ◦ [v0, · · · , vq].

Pq−1 ◦ ∂q(σ) = Pq−1

( q∑
j=0

(−1)jσ ◦ [v0, · · · , vj−1, vj+1, · · · , vq]
)

=
q∑

j=0

(−1)jPq−1

(
σ ◦ [v0, · · · , vj−1, vj+1, · · · , vq]

)
=

q∑
j=0

(−1)jSq

(
(σ ◦ [v0, · · · , vj−1, vj+1, · · · , vq]) × 1I

)(q−1∑
i=0

(−1)i[v0, · · · , vi, v
′
i, · · · , v′q−1]

)
=

q∑
j=0

q−1∑
i=0

(−1)i+j(−1)i+j
(
(σ ◦ [v0, · · · , vj−1, vj+1, · · · , vq]) × 1I

)
◦ [v0, · · · , vi, v

′
i, · · · , v′

q−1] (∗)

ここで (
(σ ◦ [v0, · · · , vj−1, vj+1, · · · , vq]) × 1I

)
◦ [v0, · · · , vi, v

′
i, · · · , v′q−1]

=

{
[v0, · · · , vj−1, vj+1, · · · , vi+1, v

′
i+1, · · · , v′q] (j 5 i のとき)

[v0, · · · , vi, v
′
i, · · · , v′j−1, v

′
j+1, · · · , v′q] (j > i のとき)

であるので

(∗) =
q∑

j=0

q−1∑
i=j

(−1)i+j(σ × 1I)[v0, · · · , vj−1, vj+1, · · · , vi+1, v
′
i+1, · · · , v′

q]

+
q∑

j=0

j−1∑
i=0

(−1)i+j(σ × 1I)[v0, · · · , vi, v
′
i, · · · , v′j−1, v

′
j+1, · · · , v′

q]

=
q∑

j=0

q∑
i=j+1

(−1)i+j+1(σ × 1I)[v0, · · · , vj−1, vj+1, · · · , vi, v
′
i, · · · , v′q]

+
q∑

j=0

j−1∑
i=0

(−1)i+j(σ × 1I)[v0, · · · , vi, v
′
i, · · · , v′j−1, v

′
j+1, · · · , v′

q]

= −
q∑

i=0

i−1∑
j=0

(−1)i+j(σ × 1I)[v0, · · · , vj−1, vj+1, · · · , vi, v
′
i, · · · , v′q]

+
q∑

i=0

q∑
j=i+1

(−1)i+j(σ × 1I)[v0, · · · , vi, v
′
i, · · · , v′j−1, v

′
j+1, · · · , v′q]


